1. Divide. Then simplify by taking roots if possible. Assume that all expression under radicals represent positive numbers.
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2. Divide and simplify. Assume that all expression under radicals represent nonnegative numbers
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3. Simplify by taking roots of the numerator and the denominator. Assume that all expressions under radicals represent positive numbers
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4. Add or subtract. Simplify by collecting like radical terms if possible.
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 simplify your answer. Type an exact answer using radicals as needed

5. Add. Simplify by collecting like radical terms if possible
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     simplify your answer. Types an exact answer using radicals as needed

6. Add. Simplify by collecting like radical terms if possible, assuming that all expression under radicals represent nonnegative numbers.
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7. Multiply
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8. Multiply
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9. Multiply 
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10. Multiply
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11. Rationalize the denominator
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12. Rationalize the denominator. Assume that all expression under radicals represent positive
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13. Rationalize the denominator. Assume that all expression under radicals represent positive
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14. Rationalize the denominator. Assume that all expression under radicals represent positive
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15. Solve
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Solve
16. [image: image28.png]V20 + 15




Solve
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Solve and would the like terms be.
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Solve
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Solve
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21. What are the challenges working with rational exponents?

